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Name: ______________________

Unit 6 Review

Describe how the graph of g(x) is related to the graph 
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Use synthetic division to put into transformation form, and then state the transformations.
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Given the following functions, find all holes, vertical asymptotes, x and y intercept and HEB.
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Find the following information and graph each rational function: 
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VA:
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End Behavior:
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End Behavior:
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End Behavior:
Solve the following inequalities using a sign chart: 
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15.  If the degree is the same in the numerator and denominator, the asymptote is found by___________________________________.

16.  If the degree in the denominator is larger than the numerator, they asymptote will be at _____________.

17. If the degree in the numerator is larger than the degree in the numerator, the asymptote will be a__________________.
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